BLUE PRINT

SAMPLE QUESTION PAPERI

Subject : Geography (Theory)
Time: 3hours
PartA Book 1: Fundamentalsof Human Geography (NCERT Publication)

CLASSXII

Max. Marks: 70

Total

Form of Q.

Long Answer | Short Answer

Very Short Answer

Mark

5

3

1

Unit

1.Human Geography:
Nature & Scope (ch. 1)

3(1)

2. People (ch.2 to 4)

5(1)

3. Human Activities (ch.5t07)

10(4)

4. Transport,
Communication &
Trade (ch.8& 9)

10(4)

5. Human
Settlements (ch. 10)

5(1)

6. Map Work-
World Map Based
onunits(1to5)

2(1)

7. People
(ch.1,2& 3)

5(1)

8. Human
Settlements (ch. 4)

42)

9. Resources &
Development
(ch.5t09)

12(4)

10. Transport,
Communication &
Trade (ch. 10 & 11)

7(5)

11. Geographical
Perspective on
Selected Issues &
Problems (ch. 12)

4(2)

12. Map Work-
Map of India
[relating to units
710 11] (3)

3()

3()

Sub-Total

25(5)

30(10)

10(10)

5(1)

70(26)

Grand Total

70(26)

Note: 1. Fiqures given within bracketsindicate number of questions and outside the brackets, their total marks.
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Sample Question Paper-I

GEOGRAPHY (Theory)
CLASSXII

Time: 3hrs. Max. Marks: 70

General Instructions;

1

Thereare 26 questionsin all.

2. All questionsare compulsory.
3.
4

Marks for each question are indicated against it.

. Question numbers 1 to 10 are very short answer questions carrying 1 mark each.

Answer to each of these questions should not exceed 20 words.

. Question numbers 11 to 20 are short answer questions carrying 3 marks each. An-

swer to each of these questions should not exceed 80 words.

. Question numbers 21 to 25 are long answer questions of 5 marks each.

Answer to each of these questions should not exceed 150 words.

. Question no. 26 isrelated to identification or locating and |abelling of geographical

features on maps.

. Outline maps of the World and I ndia provided to you must be attached within your

answer book.

. Use of templates or stencils for drawing outline mapsis allowed.

. What isthe population sizeof Classl| citiesin India?

. Namethetwo categoriesof air transportin India.

. Namethe headquartersof Northern Railway Zoneof India.

. Namethestretch of National Waterway No. 1 of India

. Whichtypeof pollution causesvarious diseasesrel ated to therespiratory system?

. Giveoneexampleeach of ferrousand non-ferrousindustries.

. Explaintheterm Quinary Activities.

. Whichmeansof transport ishighly suitablefor transporting heavy and bulky goods

at very low cost over long distances between continents.

. Explainthemost important feature of the pi peline constructed from Naharkatiaoil

fidddtoBarauni.




. Whichoneof thefollowing waterwayshas dragtically reduced the oceanic distance between
India & Europe:- (i) The Rhine waterway; (ii) The Cape of Good Hope Searoute;
(iii) Suez Cand and (iv) Panamacanal. 1

. Makethecorrect pairsof eachitemof List | by selecting the appropriateword from List 11
List | : Fieldsof Human Geography
1.1 Socia Geography, 1.2 Political Geography and 1.3 Economic Geopraphy
List 11 : Disciplinesof Social Science
A. Urban Studiesand Planning, B. Agricultural Sciences, C. Demography, D. History and
E. Military Science. 3x1=3

. Stateany threecharacteristicsof clustered rural settlementsin India. 3x1=3

. Describethreemagjor problemsassociated with urbanwastedisposal inlndia.~ 3x1=3

. Digtinguish between the Dryland farming and Wetland farming in Indiaby explaining
threedigtinguishing featuresof each. 3x1=3

. Explainthe meaning of water quality. Why isthe quality of water in Indiadeteriorating?
Giveany two reasons. 1+2=3

. Explainany thr eeimportant measuresinitiated under the new Industrial Policy of India
announcedin 1991. 3x1=3
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(17.1) Namethetranscontinenta railway lineshownintheabovemap.
(17.2) How hasthisrailway linehel ped inthe economic devel opment of theregion? Explaintwo
points. 1+2=3
For Blind Candidatesonly in lieu of Question 17
(17.1) NametheTransContinenta railway of Canada.
(17.2) Explanany two pointsregarding theeconomicimportanceof thisrailway linefor thecountry.
1+2=3




Q 18. Study thegiventableand answer thefollowing questions.

Per centageof net irrigated areatototal by wellsand tube-wells

Sate Per centage

Gujarat 86.6
Rgasthan 77.2
MadhyaPradesh 66.5
Maharashtra 65
Uttar Pradesh 58.21
West Bengal 57.16
Tamil Nadu 54.7

(18.1) Namethe state which hasthe highest percentage of irrigated areaby wells & tube-wells.
Also givethereasonfor thesame.

(18.2) Which state hasthelowest percentage of areairrigated by wellsand tube-welIs?Also give
themain reasonsfor thesame. 1%2+1%=3

Q 19. Study thegiven map showing areas of extensive commercial grainfarming intheworld.
Writein your answer book the correct names of grassl ands associated with commerical
Grain FarminginareasA, B and C marked in the map. 1+1+1=3
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For Blind Candidatesonly in lieu of question No. 19

Namethe grass ands assoi cated with commerical grainfarmingin North America, Africa
andAudrdia 3x1=3

Q 20. Study thediagram given below and answer the questionsthat follow.

Extent of gap between Exports and Imports in India's
foreign trade During 1999-2000 to 2003-2004
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Inwhich year isthe gap between exportsand importsleast? How much isthedeficit in our
foreigntradeinthisyear?

Which year showsthehighest deficitin our foreigntrade?Giveitsvaue.

What isthemain reason behind anincreasein our trade deficit?

For Blind Candidatesonly in lieu of question No. 20

Answer thefollowing questions

What isInternational Trade?

Givethemeaning of Tradedeficit.

What isthemain reason behind anincreasein India strade deficit? 3x1=3

What is the Human Development? Describe in brief the four approaches of Human
Development. 1+4=5

Definetheterm‘trade’ . Statefour characteristicsof Rural Marketing Centres.  1+4=5
Explainany fiveadvantagesof water transport intheworld. 5x1=5

“Rural settlementsintheworld are affected by several factors’. Support this statement
withfivesuitable examples. 5x1=5
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Q.25 Explainany fiveeconomic consequencesassociated with migrationinIndia. 5x1=5

Q. 26 (26.1) Inthegivenoutlinepolitical map of theWorld, four featuresareshownby A, B, C,
D. Identify thefeatureswith thehelp of theinformation given below and writetheir
correct nameson thelinesmarked in the map.

A.

B
C.
D

MegaCity
Largest regionof dairy farming.
Westernterminal city of Austrdian Trans Continental Railway.

. Animportantindustria centre.
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(26.2) Locateandlabe thefollowing onthegiven outlinepoaliticia map of India.

0

(i)
(ii)

The state having the highest percentage of population below the
poverty line.
Thestateleading in coffee production.

The softwaretechnology park in Uttaranchal.
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For Blind Candiatesonly in lieu of question 26
Answer thefollowing questions:
(1) Namethewesterntermina station of Australian Trans Continental Railway.
(2 Nameany oneMegacity of Japan

(3) A dateinlndiahavingthe highest percentage of population below the poverty line.

(4) A dateinIndialeadingin coffeeproduction.
(5) Thesoftwaretechnology park in Uttaranchal.
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QNo. (26.2)






